@D SYNnTI0N 7561

FEEITEARBIESS PSINS &%l
#% LAY
AT B v 5 R PR AT L2 IK204% B IR B
ARBAT B, SEIUE Rl etk i 7, Rz EAR R
IBR ., ARMEE, S B TEEHAINE,
Itk e 04 F 75 TlRTE
R AL T D 7
[ITHRC58-624M
Jvike, PUEm
T RAMG BB R pf
TiRAEE, ik
B 112 e i
P AR S A Ab BRAR &
&L, HIRIAE
i 52 T A b
2SR BT AR BT, B
Pedl, W& TAEM) MR L VR BRI K, A e IE, BRI
Fa AN A HLAL 3 7] 0 A BF il Tt
B RE AN, DHR. BE. RN, R
AR, RIENE. KRS, KRS, KR
* l|_.\7k1n
PRI E:

kI i N B it L

FH
TR T AT

WA ER RAPE R PR .2, Jad L — b T 101, R Z &N

FEMIFR A2 90, LA AL BRAL BN LI ZEK

PR

FERUE SRR s i ) D3 g A D 1 LA

PS/NS %73 P1



@ SYNTRON 76

Bl 1

FERE AR, Pl 2% LUAT e iy N 6 303 B Wsf 1) 2 48 A /N i

B iy H 4

FEM— M E M NFE R, o] (AL Sl 2 A 5 iy 1 22 A i H A

¥ Py H %

BT 2% T 7 52 (1) e s e K B A

Ly

SR 2 A B B o e 1 K, B NI 3000 B/, YR A AR A IS AT I I A
B %:

AR “RIRE (] B B “FFBR Y o 32 p ORI 5 0 B B P08 S I e, AR N PR A
[ 22 Sz e 1 AT 8 00 T RSB K R 7K o USRI B o 1 5 0 N i M P R0 338 P67 1) g
B, ER A 2% B RN, BN AN R 7 1 (AR SR B TR R F A R 2 2, B
NIEZE ., PR 957, RI—FERIANT 22—

PUHLP B :

I WA RLAE A S L AR T R

prizickige

1 MRYEIRIZENG S f 222 )5 AR S A B ] b i s o
2 SOVFERARITE 2RI A R
L YRR ARE LR AT A “HMERT” A VR LA I RO R
3 WUE ki E
3 C HUTL AU B A 3T LAl 5 (R R LE P - DRt D96 2 A AT 3R i 45 L Dk 4
YRR, B /N A5 Dl st PR B Y R
4 KRN
PRI FR) i i i 2 /N D i P e K SR VB N Bk

IS5

NS—60—010—05

B E= |{NERAFNSSHERY, 05FKREEHSH
W OR btk | 41010 RREGRLLEA 10:1

¥l E S |40, 60, 90, 115, 142

BiEE R | PS frER NS SHER

\

\ 4

Y

PR 2% RO LU B T U 5 Py O ARG LE 2 A, Mo AR R PR H il LU AT 3R AR,
T LA DA AR e EE R 3 {1t

PS/NS &7 P2



PSINS &%

FAREE
PS40 PS60
BARSE Bir | BLEEE PS90 PS115 PS142
NS40 NS60
3 45 110 220 550
4 20 45 110 220 550
#l 5 20 45 110 220 550
@ 7 40 80 170 400
9 20
10 40 80 170 400
9 45 110 220 550
12 45 110 220 550
15 45 110 220 550
16 20 45 110 220 550
20 20 45 110 220 550
N 21 45 110 220 550
BIEMEAERE | N'm 25 20 45 110 220 550
28 45 110 220 550
W[ 30 45 110 220 550
%[ 35 45 110 220 550
36 20
40 45 110 220 550
45 20
49 45 110 220 550
50 45 110 220 550
70 40 80 170 400
81 20
100 40 80 170 400
RFREIHIEEEE | N'm e BN 2E
3 028 1.11 4.64 15.98
4 0.03 027 0.98 4.30 14.28
sl 5 0.03 027 0.96 4.24 13.08
& 7 0.27 0.96 4.22 13.86
9 0.03
10 0.27 0.95 421 13.83
9 0.28 111 4.64 15.98
12 0.27 0.95 43 14.28
15 0.27 0.96 4.24 13.08
16 | 003 0.27 0.96 4.24 13.08
20 | 003 0.27 0.96 4.04 13.98
N o 21 0.27 0.96 4.24 13.98
wnRE g-em 25 | 003 0.27 0.96 4.24 13.08
28 0.27 0.96 421 13.83
W |30 0.27 0.95 421 13.83
[ 35 0.27 0.96 4.21 13.86
36 | 003
40 0.27 0.95 421 13.83
45 | 0.03
49 027 0.95 421 13.83
50 0.27 0.95 4.21 13.83
70 0.27 0.95 421 13.83
81 0.03
100 0.27 0.95 421 13.83

PS/NS &7 p3



@ >YNTION 76!

PS40 PS60
FARSH :=¥iv] WIELE PS90 PS115 PS142
NS40 NS60
3 1.3 55 14 28
4 0.35 1.3 55 14 28
X 5 0.35 1.3 55 14 28
PR 7 1.3 4 14 28
9 0.35
10 1.3 4 10 28
9 1.3 55 14 28
12 1.3 55 14 28
15 1.3 55 14 28
16 0.35 1.3 55 14 28
20 0.35 1.3 5.5 14 28
. N-m 21 1.3 55 14 28
R /arcmin 25 0.35 1.3 55 14 28
28 1.3 55 14 28
30 1.3 4.75 12 28
R 35 1.3 4.75 14 28
36 0.35
40 1.3 4.75 14 28
45 0.35
49 1.3 4.75 14 28
50 1.3 4.75 12 28
70 1.3 4 12 28
81 0.35
100 1.3 4 10 28
338 30 rpm 1696 3192 4656 8547 17627
35i% 50 rpm 1430 2693 3928 7210 14870
#55% 100 rpm 1134 2135 3114 5717 11791
B e 5 $1 35 N 34% 150 rpm 992 1867 2723 5000 10310
53 300 rpm 787 1482 2161 3968 8184
4538 500 rpm 664 1251 1824 3349 6907
&£ 1000 rpm 527 992 1447 2656 5478
PS ZAFIH% 8 6 5 5 5
. | PS B&FIME 15 10 8 8 8
EZ (=F) | arcmin NS Z5lE % 5 5
NS ZFIWK 10 9
BET (B3 | dB(A) 58 60 62 67 72
FEMAGEE | rpm 3000 2000
| BEMAGE | rpm 5000 3000
s e B 94% 96%
R W 92% 95%
ThEd h 10000
5 B B} B 0.4 1 3 5.7 12.8
= 9 W 06 1.2 37 73 17.2

PSINS %31 5,




=
=
el

—~
=

—

(MY $BRA

PS60/ NS60 #i5E 43: In] 11 4

2100 30rpm

1900 50rpm
1700

1500 100rpm
1300 15015

1100 300rpm
900 BOOrpm
700 1000rpm
A00
300

|

L
o
w

12 15 18 21
BE B8 ¥ (mm)

PS115 #2713
30rpm

hHlrpm
100rpm
150 pt
300rpm
500rp

loou

7 13 19 25 31 37 43
B (mm)

5200
4700
4200
3700
3200
2700
2200
1700
1200

700

(N #EA

(0 Br@h

Ny FEA

1100
1000
900
800
700

500
400
300
200
100

3100
2800
2500
2200
1900
1600
1300
1000

700

400

12000
10800
9600
8400
7200
5000
4800
3600
2400
1200

PS/INS &7

PS40/ NS40 #jisE 44 m] 11 4%

30rpm
50rpm
100rpm
1501
300rpm
500rp
1oooﬁv\
3 § 9 12 15 18 21
BB (mm)
PS90 #4414
30rpm
50rpm
100rpm
150rp
300rpm
B00L
1000\
5 10 15 20 25 20 35
6 B ¥ (mm)
PS142 #iw it 73k
30rpm
50rpm
100rpm
150 pm
300rpm
ale} I
wom\

F
=
J
=
w0
S
i
=)
)]
=)
o)
=)
-
[

PSINS &7 P5



D SYNTION =6
IMER T (8L mm)

B2 L7 L L1
®D3 L6
4 L3, |.L2
7 aa N H
/ l\\g\ ] 3
, [IIRNAN? 3
| | N
\ : ) O \ G2
4-dD4 ' Y ml
T L4
B
L5
RS R~Ha#R szg Zzzg PS90 PS115 PS142
gy | WE |2 | wE | 2g | we | 25 | 9E | 2% | WG
D1 itz 10 16 20 24 40
D2 EO&ERE 35 50 80 110 130
D3 LEILPLERERER 46 70 100 130 165
D4 REEILE 34 5 6.5 8.5 11
L HUEKE (R&3%2) 38 | 518 | 53 |705| 71 |953| 89 [120.5| 120 | 168
L1 nhaaciil GRS 24 25 40 50 80
L2 $8 5 fhuh xE AL EE 55 2 3 5 7 8
L3 g 16 16 28 32 63
L4 FOSE 2.5 2.5 3 35 35
L5 WHHMESE 35 35 4 5 5
L6 RiinEBE 5 10 12 14 20
B =R 40 60 90 115 142
B1 T SR = 11.2 18 22.5 27 43
B2 2R 3 5 6 8 12
G2 Sim FL M3*10 M4*12 M5*15 M6*15 M10*25
EZEE CEHAZHRS
L7 " F;E:S WESH| 25 31 40 50 60
L SV AL RIS E <8 <14 <19 <24 <35
i;ﬁﬁ AFENHK (FEO5) 25 31 41 53 65
Bk SFEMAIEORST 227 238 >51 >70 290
SR EALESNE R T <40*40 <60*60 <90*90 <115*115 | <142*142

PS/NS 7%l P6




PSINS Z& %

3. FEFERNEL, AEHN I E I ISR R AU 22 /N L, 4. BoL b e
WERADCS 2 BB, KA O E RIS LI (5 O
R, Jefs O RIMEROGERI ST | R
DA R BRI FE DA

5.2 K ELLAL R s vk T B 2 AL L AN, T 6. MEHAFE IR
RN

ZE B AER
BIERES SEAE | R&HE%E
PS40/NS40 15 N-cm 280 N-cm
PS60/NS60 22 N-cm 441 N-cm
PS90/NS90 43 N-cm 859 N-cm
PS115/NS115 2N'm 36 N'm
PS142/NS142 4 N'm 72 N'm

7. RIS SRR, IR B R AR, S
REIERE Y LB IR R, w
PR FRIT D 5 R, — e e LR
SANHBL, AR, SRR AR
AP R

PS/INS %7 p7



@ SYNTRON 7561

Z a5k 4

B F iz ) WALRIE 3

¢ JHEMAL
AR/ =A8/ 248 % 7]
WA ETEE: 28 mm ~ 130 mm
B AEESESE B 0.06 N'm ~ 45 N-m
IR 35 A ETE
24VDC~70VDC  100VAC~220VAC
IR sl WAL E: 0.9A ~ 15A
) B[ FET RN B ~ 128 sy
FFACIR S 4] 5 X,
F) 2R 3 b AUBR 3 35 4 7 X

® RAFAMRAL
WAL ETE: 40mm ~ 180 mm
HEEE: 100W ~ 9000W
3% 5 E: 1000 rpm ~ 3000 rpm
#%4E50E: 0.32N'-m ~ 71.6 N'm
W, /%5 ) : 24~80VDC. 220VAC. 80VAC

AT+ AAx 4 2%
HFARHERE RNIERZL
miEAL ATTpw 2ot A et #] & 4
FATAGIE R AR
SC-GSJ01 sk £ Audx 4| 25

AARAE 5) %L

® TEHERREER

FE I RC)

O SYNTION 761

H &
Hh k-
@if it
CAETSYIIR
B
£ H:
T 1|

LR FAFI BT B ARG RA T (REED
LtEHEERFERISLEXREAE10E
b3 2877 1544 ERBIZRED: 100085
(010) 62932100

HE—100; FHAZIF—810

: (010) 62927938

(010) 62927946

wWww. syn-tron.com

¢ RRAABMARL
BAYNZTEE: 57mm ~ 92 mm
HEE: T0W ~ 600W

3% 50 E: 1000 rpm ~ 8000 rpm
4E50E: 0.095N-m ~ 1.9Nm
IRZh35 TAEHR/E: 48VDC. 220VAC

Bk R AR BAE S
HEEE: 200W ~ 1000W

3% 50 E: 10000 rpm ~ 20000 rpm
#4650 E: 013N'-m ~ 1Nm

% B b E MBSz H A %
MD-BOX #) &-F & & bz 41 %
B3RS AR Mo X LA A %
K LA ] & 4

BRHIEF AL

& THRAREHRE. BHIERKT.
SC 27|45 . TRIOEZhi=4| %

R EAL: (025) 84293632/37/52/53
R4 22F): (0755) 26581960/61/62

©1605 by Hollysys Electric 05/2016
AEMBESR, BABE.



